[ Efficiency vs vertpos |

0.3

o
C o
ul
T[Tt

0.95L : :
1072 10 1

10 0?
TP vertr (cr%)

—=— DQM_TT__mkFit-DQM_time_old132
Efficiend —— poM_TT_ mkFit-DQM_time_new132

~n 0.2
R il (R SR S & S
%) r . . . . .
L R S S (A
8 _ . . . . .
§0.14F
8] L
£0.12F
(]
0.1k
0.08F
0.06f -+
0.04F -+t 4f
0.02F -+ {{-
J_.\‘C_llllillllil

Ratio

0¥/ —=20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2
> F : : : E :
0-0.18F preyees priyeees AR
€ . : : : :
7R i e e A A N S
T R e R
P E : : : :
c0.12F------- 1 R A SRR B AR AR
0.0+ '
0.08F
0.06F : ' : :
0.04f+oeserseesdeeneebenc oo
Y SR SN S R

e

effic

10 15 20
Sim. PV z (cm)



	Contents
	Page 1


